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0Q.1A (20 points) Choose the correct answer

1. If Aisa 4x4 matrix, B isa 3x4 matrix, and C is a 4x3matrix. Which of the following
operations is defined?
A) BC-A
B) BA+C
C) CB+A
D) AC+B

2. If sin(sin‘l(x)) =X , then X belongs to:
A) [0, 7]

o[-+

C) [-11]
D) R

3. €0s60° cosl5 —sin60°sinl5 =
A) cos45’
B) cos75
C) sin75
D) sin45’

ax—4y =20
2x+by =1

4. Given that (8,5)is a solution of the system: { . Find the values of a and b.

A) a=4 ,b=-5
B) a=-3 ,b=5
C) a=2 ,b=-4
D) a=5,b=-3

4x+3y=0

inconsistent.
—4xX+by=2

5. Find the value of b that makes the system: {

A) b=-3
B) b=0
C) b=7
D) b=3

You must write the correct answer to each question in the box below

Question 1 2 3 4 5

Answer




6A. Which of the following is an invalid (wrong) elementary row operation?

A) Row 2+« Row3
B) 4Row3 —Row 3
C) 4Rowl+Row3 — Row3

D) (Row3 )+4 — Row3

7. Given A{_g 9 1} - B=|-1|- Find AB, if possible.
-2 31
-16
A
5]
B) [-16 -6]

C) AB isnot defined

-3 9 1
D) |2 3 1
4 -1 5
8. cos(x—£j=
2
A) cosx
B) sinx
C) —cosx
D) —sinx
9. sin® x+tan” x+cos” X =
A) cos®x
B) tan®x
C) sec®x
D) sinx
. . . 3x=4y-5
10. Which matrix describes the augmented form the system?
2X+4y—-4=0
3 4 -5 3 —4 5
ALy 4 B [, & 4
3 -4 -5 3 4 5
©) [2 4 4] D) [2 4 —4]

You must write the correct answer to each question in the box below

Question 6 7 8 9 10

Answer
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0.1B (20 points) Choose the correct answer

1.  Which matrix describes the augmented form the system? 3X=4y -5
2x+4y-4=0
3 4 5 3 -4 -5
A) [2 4 _4] B) [2 A 4]
3 45 3 4 -5
oL D) [; 4 )

2. Which of the following is an invalid (wrong) elementary row operation?
E) (Row3) +4 — Row3

F) 4Rowl+Row3 — Row3
G) 4Row3 —»Row 3

H) Row2<> Row3

3. cos(x—zj =
2

E) —sinx
F) cosx
G) sinx

H) —cosx

4. If Aisa 4x4 matrix, B isa 3x4 matrix, and C is a 4x3matrix. Which of the following
operations is defined?
A) BA+C
B) AC+B
C) BC-A
D) CB +A

5. sin? x+tan® X +cos® X =
A) cos®x

B) sec®x
C) tan®x
D) sinx

You must write the correct answer to each question in the box below

Question 1 2 3 4 5

Answer




6B. cos60° cosl5” —sin60°sinls’ =

A) sin75
B) sin45
C) cos75
D) cos45
7. Given that (8,5)is a solution of the system: {ax—4y—20. Find the values of a and b.
2x+by =1
A) a=5 ,b=-3
B) a=4 ,b=-5
C) a=-3 ,b=5
D) a=2 ,b=-4

8. If sin(sin"(x))=x , then xe:
A) [-11]
B) [0,72']

o[£
2'2
D) R

4x+3y=0

inconsistent.
—4xX+by=2

9. Find the value of b that makes the system: {

A) b=0
B) b=-3
C) b=7
D) b=3

4

10. Given A:{% 9 1} - B=|-1|- Find AB, if possible.
-2 31
5

E) [-16 -6]
16
F) __6}

-3 9 1
-2 3 1
4 -1 65

G) L
H) AB is not defined

You must write the correct answer to each question in the box below

Question 6 7 8 9 10

Answer




Q.2 (6 points): Prove the identity.

SEeC X+ CSCX
tan x+cot x

=Sin X+ C0S X

COS X
1-sinx

b) =Sec X +tan x

Q.3 (6 points): find the exact value of sin(&—¢), given that tan 9 :%, @ is in quadrant I1l, and

sin¢:—§, ¢ is in quadrant IV.

Q.4 (7 points): Graph the solution set of the following system of inequalities. Show all your work.

y<x*+2
X+y>1
Xx=0
y>0




Q.5 (8 points): Find the solutions of the trigonometric equations. Show all your work
a) 3cos(X)++/2 =cos(x) ; Allsolutions (in degrees)

b) 2sin*(x)—cos(x)=1 ; in the interval [0,27)

Q.6 (5 points): Use an Addition or Subtraction Formula to find the exact value. Show all your work
a) sin(165)

b) cos(s—”j
12

2 5
0.7 (3+3+2 points): Let A=|-1 3| B=| > | andC=|t °
' a ' - T -2 3 |0 3
2 -1
Perform the indicated operation, if possible.
a) 4B +3C
by AC

c) A



2X +y +2 =7
Q.8 (7 points): Use Elimination (Addition) Method to solve the following system. Jy ,y _; =4

—X =2y +3z =-2
X+y—-2=0
Q.9 (8 points): Solve the following system using Gaussian Elimination: J, . 2y—37=-3
(With back substitution OR Gauss —Jordan) 2x+3y—4z=-3

3x 5 2y -3 7 2
Q.10 (5 points): Solve for x and vy . 1 4x + 6 -y = 7 9 . Show all your work



